


ISR dag: - 020



U, TG T (¢.R.€¥)

R 9659H | g0, &d, 9 |
R TR &2 G I el AR |

R G T TgTohl 6 <: g: &1 |
R HEA T4 7T (R) |

M eEhadg: - Ro%0



Q. BEUEN] ZEAl: (¢.R.C1)

R HqgdH |
R TG IAGAAd | "g’, "Sgr’ A = |

D e

oR T TAR1 GUgd TgTH o agaiNd ga: & |
coa%(i)l‘l'ql

RTAE () |

ISR aag: - R020



Qu, Tl SH ISR T
(¢.R.C])

R W2 9T | T:, ST, STecaed, Y, Tohehed, T4 |
R "N’ 3, "gA+’ A 7 rgFad |
R TG FBTRI T Telgeled IFeca eIy I a1 gei: &4 |

¢
JRILENE
R) K
3) RRNWE:

MO HEhadg: - R020



R e
®RET U q I g JFd
R 4HEd g &Y HAN &

R T 3(3) TS (TN SAaE T e T
R T 398(3)T (I ST aEaTH e T
o’ U8 3 (3) (T )

MO HEhadg: - R020

d



R T: ToRH ? TohICICEd STRIGET HT ¥d |

R $F: FRE? 0 (2) - GUredl = 3 S g |

R THRTEY] G |
o= ()FG(R)T(R) Ffd 9 ¥&fd |

oL ) = ¢ o =
R T8 UMM Zd AR EHTd | - J9: Zd: ke d |

R EhaHg: - R020



Q. AIATGH (&.2.2R)

R UGETH, | AgAag, I |

R JURYA: W: (=N dh:) gferra: |
R ANHA T I TgAgald |

R TR TS A F( |

GR GBH(R) T = FAH( ()

ISR dag: - 020



4

R I fRH?
R HYA: TG A T i, g fefinsda |

R Y1 = SHJENSTE ShichTe Fied Ui ° &4 |
R 3T (3) 3Md |




Qg (1) ATEHIHINA (&.2.230°)

R YqgdH |
IH{gddd |
R F()FN: Fd: A W HFdT8] &1 |
o= g & (3) + 3fd = Fagdifar o
= R fE(R) + 50 = Fageem |
R T [T |

ISR aag: - R020



200, $232 fEEa TR (2.2.22)

R T | 33-3e-Ng, Tea=, e |
R §5eg (Gaa SFIEHg &1 |
R &Y Tl |

o formop 2 |
R T o7 |

NN )

R YHd HI

ISR dag: - 020



R "HUNEEE SFd PR Foddil I8 (HETRaH)

R HUT + 39 — &Y Qled:?

GR AT AT S RN Sciadl HHY 399 d 3a1Y a1 arareal
1 I |

R HUTl T+3FET / HUN q1+3ITHA |



209, TGN AT (2.2.2R)

R Yeg9H | 3iqH:, Hid |

o= ‘38’ 3, "SRR 3l = g |
R AT T 33l SFRRl &4: |

R 3T 23M: |

R THEEH 3T |

MO eEhadg: - Ro%0



R HId_ [RH? STHST |
R UG + I TATGIAATHE THE: — 4.3.92)

R Hqh¥d + Y
R T H
R I ATEE ThHNISHEdd |

MO HEhadg: - R020



20R. 2 (2.2.23)

R THHE TG | /SRR 3 oTgad |

R I WEl: &1 | "2V AR I8 229d
R 3T TFEd! |
R ITEHG + 9 (TG Tga=H)

RIS I ("Gl G-Fh-JIHGU-d- 2SS TT-SAT- 5
9.2.3R)

RIFHT U (‘SAHAND, T 3:)
RIEH (2N B il & B:)
R IH




203, [T T (2.2.23)

R 9&9 | [[9Td:, TS, 3T |

R "I’ 3fd STgaAd |

R RIS AT SATEast: WJel: T |
RE AT | T35 |

R 3 faas | I I |

ISR dag: - 020



R ' Tad feranq: fgferd: — etfed (31), fed (3Te) |
R IAE Igh: ASd RN TR T |

R 3 Td J A |

R 37T T4 fh dd |

R fed g A W& |
R TIEWMH WA |
R () + U = U |

R EhaHg: - R020




AR | 79 Terd gfd faaeh: |

¢ =N N C o e N
R 9 FERITENT ARGt = 3¢ |
R U Ted [IaTg araeauERied |

R T9GY — SHGWH STT+IWR = A |
R SRR — +3WTo5d = NTe3d |
R HAIE / AT — g, 3T+ = A,

R IR — 31 O J A= |
R YU — 1 T fohes ol |

ST EEhag: - R020



209, I1d (2.2.24)
4




